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Academic Year

Referencels) in the Student Book ( English Version)

20232028 Question* Learning Outcome/Performance Criteia**
Ty (Y Bll) S § g
Example/Exerct [
g T xample/Exercise [ age
Term s 3/ Jta | oioall
]
Find the area between two curves using definite integration
1 R (118) 218
Subject Mathematics ) Jo kil cpcinio . ]
o St
Compute volume by means of definite integration using areas of cross sections
2 | Ex(14) a9
Grade » eyl glil] Sl il g S5imall JaSEl gl ol
)
5 [Find the volume of  solid of revolution using the method of disks [ (17,19,25)-(disks parts) [ 430
stream ‘Advanced ol Ayl pliskil s - S | (27,28)-(disks parts) [ 31
e ]
Find arc length in a given interval using definite integration
4 " (5-14) 436
3 mall JoS il liane 570 A5y 50 53 o S
Number of MCQ s
Lyl Sl 20
Find surface area of a solid of revolution using definite integration
s (29-36) 447
Sguoeall JSH pliseiuly disne dilais 093 o5 W gHlasd) d>lue Dlus
Marks of MCQ - — -
. ot 4 Solve physical problems involving velocity
g LB s P et o Ex(14) 455
el el o B8 il Sl
Solve problems on projectiles
7 . 7-22) 456
Number of FRQ sy X
e ] 5 B 94 85 e Al s S
3
3 Compute Integrals using direct computation and rules
3 8 Ex(1,2,5-10) 89
ErEem 10 3 e oty e ik gt Jly> NS Sl
A0l U oy (AT bt
z Compute integrals using direct computation and rules
o i (17,18,25,26,33,36,38,39) 489
Type of All Questions MCQ/ ey B ) ity e Bty Bt lgs S o)
U B gy FRQ/ &liel) Al
Compute various integrals using integration by substitution
T overN ored 10 (27,3031,32) 489
DoenEE 100 gty S ok 5t s S s
Exam Duration - e e 150 minutes Learn the notion of integration by parts
1 (53,50) a97
329 o By Jo o By
Mode of Implementation - s SwitAssess & Paper-Based
Use integration by parts to compute definite and indefinite integrals
12 (56-61) 497
Calculator Allowed 523y Jo) Bl paialy e it B35 13 $354n NS 2]
o 051 s
|integrate functions of the form sin“n(x) - cosm(x) |
13 (16) s07
| sinnn(x) .cosnmix) daea Jss oot sl |
|integrate functions of the form secan(x) - tanamix) |
14 (9,11,12,15,16) 507
| sechnix). tanam(x) Qs iss SHSS stawd |
Integrate trigonometric functions using the substitution x = a-tany)
15 (33-36,38-40) s07
= artany) — gl plisly dlie Jiss SIS S
L6 |compute the area of a region using defnite ntegration with y 2 a varible x [ Example 1.6 [ 213
x5 Uty danslany S3ionn JaS Bilata At slo) | (19,2022,24) | 14
17 |Find the volume of  olid of revolution by using the methad of washers [ ar1925)(washers parts) | 430
il Byl plaskinly e e Sl | (27,28)-(washers parts) | 231
3 Solve mathematical problems involving applications on arc length or surface area
: 18 (2325 a7
3 i G5} sl g e S by e o
g
Use integration by parts to compute definite and indefinite integrals
19 (910,11,14) 496
2l JaS0 o plaialy i Bapioen 13 B3pionn CSES ls]
Integrate trigonometric functions using the substitution x = a-sin(y)
20 (21-28) 507
= asinly) — assadl ikl Al Jlps M sl

 or on the exam paper .
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